Quiz 3
ID#: Name:

M2 OSN3 & (A, B,C £T2)HDH, ZO—DICKEIDELE n KOMBEV TS5 R
FVIHICAENTE D, HBEOBENT 1 FIC>E 1/, MO LI X D/NSLHEL2EELWw e
T2, SOFEMEDL LT, ROGEEEZ D,

p(n): 2" — 1 POBETIXRTOMBZIEEINIMMOGITICBRE I S Z L23TE S, (Hanoi's

Tower with n disks can be completed in 2" — 1 steps.)

1. p(6) ZEZEL p(7) BETH S I & zdtHE L, (Explain that p(7) is true assuming that
p(6) is true.)

2.n=4TADS CICREFETETLEE A D—FB/NIOMHBIIEMICB, COELSICEL
76X, n=5DLEFIFZE) D, (Move from A to C. What is the first move when n = 4
and n = 57 Assume that the total number of steps is minimum.)

n=4 0t ZDORYIDEH S (First move the smallest to) : B C  (G#EY)Z&J71H)
n=>5 D& EDRYDBE (First move the smallest to) : B C  (#EI% 512 HL)

3. FEZ/NI WS 1,2,...,7T L L, 2N, THA I, 54,321 2T oHIZBIZ, 6
WC OIIGHELTHD LTS, RMFIETT % ALSBE L Z0 LIt XRTEB I LICT
&, ZNUZ, ETICHMENSE LI D, FRZ2NE T, MNIEEIDNED, (A: 7, B: 5,

4,3,2,1, C: 6. Move A to B or C and complete it with minimum number of moves.)
BE)S (Move to) : B C  (@EYIAT7ICA) BHEIEE (How many moves?) : =]
Message fifl (BIZHEIFF) i AN LT, ETHEL»o7 (EHLTWwD) 28, Lo

722k, B>Twsb I L, (Anything that made you rejoice, sad or angry, or you are thankful of
recently?) (T —2A =T EHEAT,) ZHGEO Z L, If you wish, write “Do Not Post.”)



